Jala g uujlol aluly
cHall g &onll Joao







Jol=a g u)lod alunliy

Al ¢)1hll g &onll Jga

I el Ja

CEaal EIJ},&:JI'E_')EQ &n}\}é L_'l'lillnﬁ'@i_ﬂ'l':}' :; e P o I T

a ¢ axdzhbxe
b d b % d
Al (2 [-15%(-20)1+ [(-3) % (-4)] 300 + I2 312
U4 = — = = =
o i [EE e ) (-4) x (-20) 80 80
i P
i BT i 1
e L?} r'?) [13 % 13] + [(-8) % (-7} 169 + 56 225
= = = = =
(= i3 -8) x 13 104 104
4,0 [14 % (-19)] - [(-8) % I0] (-266) + 80 _186
i - — = =
e (-8) x (-19) 152 152
= 186 +~ 2 i
o e
5 2 [53 % 7] + [(-2) x 11] 23 =30 13
di= i) = = =
11 7 11 % 7 77 77
> -9) 11 % 8 - [(-9) x 1] g8+ 0 17
o — - = = =
8 ] % 8 8 8
i _10 = 6 i [(-10) % (-14)] + [1] x 16] 140 + 176 316
I SIS e 11 % (-14) I ST > 1154
316~ 2 158

g 77




tE gD s (1
- 2 3 7 16 g 56
i 3 8 T 24 24 24
AT T e N W TR T T
= 24 ol AL gt ) T
) J is i 5 i 153 I 5
E= — + — 4+ — - — = — 4 + — - —
4 36 4 I 4 36 =4 — 12
I =5 —R_n
N = i
£ saoll Eadoami (2
=5 i 7 7 =7 : 56 + 168
e > o= | BIE 192
224 224 + 32 7
el e = = | e e
192 jo3 - 32 6
. 1 2 : 2 3 _ -2 _ =0,
HAak 7 e i :"'. Pa= —_— —_ p—— : = - : ¥ T ——
5 7 7 5 35 35
me(n/b) IS8 e Lo (3
7 e 6 i I
3 3 3 3 3
%6 24 + 2 24 2 1
_— = : = — 4= =
6 6 6 6 3
12 2 T i1 I i
i1 11 i1 Il i1



EE el Ja

it |

{ { i {2 3 4 3
& A =1 +(——]+—+(——] = +(— ]+ +(— ]
2 3 4 {2 12 12 12

&

anB

&

i

L

I s S B
I 12 |
R . o T T 2= 25 2 -40
= -0.25 + + =i + + = - + +
55 T AT 7 TR 100 100 100
25+ 2-40  -63
e 100 100
3 (-2 3 3 o i 45 =10 6
i T S Al 7 T
2 6 i3 2 3 5 30 30 30
45 _ 10 + 6 41
e 30 30

(—2) (—4)[}) z < ( f] I8 &4 ( ?]
=|—| +|—|+|-—| = —F+—+]-—| = —+—+|-
—if = 9 7l 9 63 A3 .3
I8 + 84 - 7 a5

63 63
&N Gl da
= 1
trad g e -1
:211+h+5a+h:2{2n+b}+5ﬂ+b:—'m+2b+5ﬁ+b
3 fi 6 ¥ fi
S + 3b Jida + k) Jao+ b
EETE ] 6 L
a-b+3 Za+b-I #Ha=b+3) 24+ b 1)
= iR = 4 E 24 i 24
da - 4b + 12 12a + 6b - 6 da - 4b + 12 - 12a - 6b + 6
| 24 i 24 I 4
~8a - 10b + I8 ~da - 5b + 9
Il 24 IL 12

! 7a -3 a+ 36 27a - 3b) 3a+ 3b) 14 - 6B -3a -9

5 {0 30 30 K1,
| ffa — I3b

='E|'L‘u.¢u_'}ﬁl—2



I
1

I
il

) 2 & 18
= e -
3 5 3 3
i (5 8) (2 IS)
sl L WIS |t IR Al de Sl N ESEs gl
2 3 2 i
! 6
- — + (1) + (-—)
2 3
! 16
L
2 3
! 16
e e (“"‘,—]
2 3
(=
—+ — e
3
— -
10
27
10
/ A 20 il /
n Al nn + 1) i nn + 1)
= 1999 i 1==2000
! ! = ! = !
1999 2000 1999 % 2000 F998000

bt g ot -3





